Multiplication

WORKSHEET

Q1. Choose the correct answer and fill in the blanks.

a. Multiplication is repeated uw [fla’\(addltlon sub\t/ractlon division)
b. 3 groups of 5 is equal to ﬁ\( 5 . ( 5+5+5, 345, 3x5)

C. 4 taken 6 times make L [ (24 25 20

d. 6+6+6 can also be written as '55&3 (3 6 6x3, 3+6)

e. 5 fives.are H{[}S ol £§ (2 tensB/(/:)nes 5 tens 2 ones, 2 tens 0 one)

Q2. Match the following.

Tigroupsief 5%
5 taken 4 time > - ‘

a. Seventy- two

0. Eighteen
Nine twos are ; Twenty
g8 times 6 — 4. Thirty-five

+——2e. Forty- eight

O X 8 ~———

Q3. Do as directed.
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d. There are 5 flowers in a pot. How many flowers will be there in 6 such pots?
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e. Multiply and write the product.

g

X 4 X 6
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